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as far as practtcable

GROUP - A
( Multiple Choice 'rype Questions )

‘ Choose the correct alternatlves for the followmg : 10x1=10

A computer with cache access time of 100 ns and hit

ratio of o- 9 produces an average access tlme of
2 250ns b 2008

c) 190 ns . Q) noneof these.

Which of the following is example of 2- dimensional '

topologies ln statlc network ?

a) Mesh b 3CY Network

¢) Linear Array . d) None of these.
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1) Advantage of MMX technology lies in

a) _Mulﬂmedla.appugaﬂon‘ B
w vea
'c) | CGA
d)  none of these.
: iv) Ar\fay\ Proceisr;;r is pr_e’sevn'tvlln
2 sMp B MsD
c) MIMD j ) ol o ;d) noh_e'dfthese.
v) 'Bééic diﬂ’erence between Vector and“zi\n,'ajisrpcc}ssors‘ls -
B interconnection network
g register S
d) -rvxone‘dof»the'se}:‘b
ﬁ)f strldem Vectoi' processor is used to -
ai' dm'etentiate diﬂ'e‘ren'.f dats( fyées :
b) rggls_térs. |
; c) diﬂ'erentlatc different dafal- -
@) 'né'ng o‘f.the:u},.‘
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vu) Which one of the fouowmg has no practical usage ?
a),_ -SISD 'b‘)‘ SIMD,

¢ MISD . . & MIMD.

B
4
1
5
i
!

Vﬂl) leference be‘:t'vsveen‘RISC and CISC is
a) RISC is mor? cdﬁplmc ‘
b) (Slsbvvis ‘more eﬂectlve’ |
| o RISC is better @ﬁmxzable
d) : none of iheée./'

bt) For 2 instructions I énd J » WAR hazaxd-occui's if -

& RONDW=¢ b RONRI=¢
) »D(I)h,R(J)sqa @ none of these.
1 | x) The seek time of a disk is 50 ms. It rotates at the rate of
30 rofa_tions] second. The capacity of each track is’
-3,00"words'. The access time is appfo:dxhatcly -
a) 62ns . b) 60ns
¢) 47 ns  d) noneofthese
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’ . GROUP-B :
( Short Answer ‘I‘ype Questions )

Anmeranyﬂtreeofthefonowmg ' 3x5=15

Describe Fiynn's classiﬁcatlon of parallel c&mputgrs.

.. Differentiate betweén C-access and S-access memory

. organizations.

What are the"diffefént»factors that can aﬁfec:‘t the performance

of a pipelined system ? Diﬂ'erenthte; bctwe,en“WAR and RAW

/

 hazards. A Ns 2+3

" ‘Assume that main memory size is of 32 kB- x 12. Cache

memory size is of 512 x 12 and block‘-Sizc is of 1 word.

- a) Direct méppipg technique

6.

420 1

Describe\thé‘:follmg :
N 3 ’ . - » !
b) . Associative mapping technique. 2;+2

Compare between RISC and CISC

4
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= GROUP-C-
(LongAnlwer‘rypeQuestlono) N .
~ Answer any three ofthe fonowing 3x15=45

'Consider the four stage pipelined processor specified by .

| _\_the fouowingdiagram e 2
o , Q‘ ) - ;f'f’Output
| ST " | 82  : f_sij » sS4

" This :p'ipe‘lirie‘has: a ‘total evaluation time of six clock

4201

| cycles All successor shages must be used after each

clock cycle

) Specify the reservation table for above pipelined

processor with six columns and four rows

- i) What are the forbidden latencies and the initial

»collision _vector ? Draw the state ‘transition
diagram '

ii1) DetermineaHISimplecﬁcies. greedy cycle and MAL. |

iv) ‘Determine the throughput of this pipelmed
Aprocessor Given clock period as 20 ns. ' ’

‘What do you mean by pipeiined chaining ? Define the |
- various types of vector instructions (2+4+3+2)+4

5 . k ["Turn over
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C o8

. ’\ b) *

‘c)-

by

c) -

- 10.°

a

a)’_

B 'wlth a sutta’b’le cxampie

‘What is cache memm'y ?Deﬁne global miss & local miss

R

dlfferent techniqucs to reduce Miss Penalty

' 'Describe dlﬂ'erent techmques to reduce Miss Rate

'(2+5)+4+4‘

What do you mean by multiprocessor system ? What are

_the : simﬂarittes and dissimllarities bctween the

multiprocessor ’system and multiple computer system ?

What are the  different architectural models for

| mitltip_rocessbrs ? an;lalneach of them with example.

Distinguish between loosely coupled and tightly coupled

»‘ “multiprocessor architectures. Which architecture is

v

rbetterandwhs\r? SN ' '5+\.5_+5',

a)

by

c)‘

4201

~ Write a short note on vectorizing compliers.

What are. strlp'mmimg' and vector stride. in respect’of

vector processors ?

-Both vector processors and arréy processors are

: spectallzed to operate on vectors What are the main

diﬂ'erencesbetweenthem? . : - 5+5+5.
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. 11. Write shdrt notés on any three of the folloéving : . 8x5

Power PC '

Memory to memory vector architecture

\

Array'processor R

Meniory inclusion

i Memory interleaving.






